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Key Book 

Class: ___Two_____________  Subject: _Maths (TB: A)______

__________________________________________________________ 

Chapter# 1: Numbers to 1000. 

Pg# 1 

Pg: 10, 11 (Make MCQ’s from two Boxes). 

Pg# 16: (Make MCQ from Box) 

Pg# 23: (Make MCQ from last Box) 

Defines: 

Even: The numbers that can be grouped in pairs are called even numbers. 

Odd: The numbers that cannot be grouped in pairs are called odd numbers. 

Pg# 6: We can do it. 

Q2: i. 800  ii. 520   iii. 202  iv. 471 

Pg# 9: We can do it. 

a) 433 b) 431 c) 442 d) 422 e) 532 f) 332 

Pg# 12: We can do it. 

Q1: (a). 492 =  4 hundreds + 9 tens + 2 ones 

As it is part “b” and “c” 

Q2: (a).  

Hundreds Tens ones 

   

 

 

 

OR  

 

As it is part “b” 

Pg: 13. Skill drill. 

Ans: 528 

The place value of 5 = 500 

The place value of 2 = 20 

The place value of 8 = 8 

Pg: 21. We can do it 

Q1: (a). the missing number is 1 more than 360.  

The missing number is 361. 

As it is part “b”. 

2 hundreds  3 Tens  3 Ones 

200 30 3 
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Q2:  

 

(a).  

 

As it is part “b”. 

Pg: 25.  

Q2: Ans:   Odd: 41, 77, 115 

Even: 72, 56, 10, 344 

Unit# 2+ 3. Ch# 2: Addition within 1000 

1. Solution: 

Farah has red balls = 13 

Se has yellow balls = 6 

How many balls she have altogether = ? 

13 + 6 = 19 

 

2. Solution: 

Bilal has marbles = 254 

His friend sami has more than Bilal = 76 

How many marbles Semi have = ?  

254 + 76 = 330 

 

3. Solution:  

A farme has black sheep = 178 

He has white sheep = 144 

How many sheep he have altogether = ? 

178 + 144 = 322 

We can do it: (Pg: 38) 

a) Solution: 

Nida has blue blocks = 315 

She has red blocks = 273 

How many blocks she have altogether = ? 

315 = 273 = 588 

 

b) Solution: 

Boys took part in art competition = 424 

More girls than boys = 150 

How many girls took part = ?  

424 = 150 = 574 

 

c) Solution:  

Subtract 10 Subtract 100 

635 535 435 335 335 235 

1     3 

+      6 

1    9 

2    5     4 

+     7     6 

3      3      0 

 

1    7     8 

1    4     4 

3      2      2 

 

3    1     5 

2    7     3 

5      8      8 

 

4    2     4 

1    5     0 

5      7      4 
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Pineapple cakes baked on Monday = 498 

Cakes baked on Tuesday = 343 

How many cakes he bake altogether = ? 

498 + 343 = 841 

 

We can do it: (Add mentally) Pg: 41 

a) Solution: method 1.  

5 3 4     +     6  

 

5 3 2     +     2 

Add 6 and 2 to make 8. 

Add 532 and 8. 

532 + 8 = 540 

534 + 6 = 540. 

Pg: 41 part “b” and “c” as it is. 

 

4    9     8 

3    4     3 

8      4      1 

 


